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Question Number : 1 Question Id : 5500532561 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Identify the Taxonomists from the group of scientists mentioned below:
Hugodevries. Endlicher. Frankel Konrat, Haeckel, de Candolle. Hanning

B BIED FTYDGL VB0 Ko 50568 ?@ée}@m 8030820
t.:méﬁﬁ COD, JoGE6, 03 80 TtS, i3S, Aol 235y of
Options :

Endlicher and de Candolle

DodE6 8% Egol S
1. %



Hanning and Haeckel

- Hﬂbﬁloﬁ S0803» 738

Frankel Konrat and Endlicher

F03S5 £ 085 08050 Dot E6
3. %

Hugodevries and Hanning

T AR BBk D of
4. %

Question Number : 2 Question Id : 5500532562 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Read and find the correct statement from the given below
A. Species 1s a group of individual organisms with fundamental dissimilarities.
B. Few similar characters are assigned to a higher category in a division.
C. A decrease in number of common characters is observed from species to
kingdom.
D. Lower taxa shares more characters within the members.
8 S0 TR VE(ADDO B VT TN Hiochiw.
A, 5980 ddmren 90 Lo ddwmrabo S,
B. 0&4d gﬂcmeﬁ" &0l &5\ v vsred ¢ ke TV ST Gokran.
C. 23 doou) T{0 S0 HTEE Do VLEPLL AT Gotraw.

D. trsy .gﬂom SEURDIGNAL DR ) J'0gen DS ST Sotrow,
Options:

ABC

1. %



ACD

., BCD

ABD
4. %

Question Number : 3 Question Id : 5500532563 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Intercalary meristamatic zone, Paraphyses, Elaeters are the characters of these
Bryophytes respectively

m%: De;“aaig SErad?, WTSoS0, AL S0t vgrray SR DA™
8O0
Options :

Hepaticopsida. Anthocerotopsida. Bryvopsida

bﬂévé?:;%eiagm, 908 ?\::Uﬂéﬁﬁinbm , QOITONC

Anthocerotopsida, Hepaticopsida. Bryopsida

2908 13?&3633353" | s D\, QOB

Bryopsida. Hepaticopsida. Anthocerotopsida

QI ONGT, hﬂéﬂ&%ebbc?, 908 R:)Uﬂeﬁﬁﬁahcr*
3. S



Anthocerotopsida. Bryopsida. Hepaticopsida

908 ?\350&5“63335:‘3, QAT PFOE D\
4.v ~

Question Number : 4 Question Id : 5500532564 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Four plants are observed. ‘A’ is a primitive land plant. ‘B’ is embryophytic
archegoniate phanerogam. ‘C” s aufotrophic thallophyte showing haplontic life cycle.
‘D’ is nonflowering plant with heterosporous sporangium. The plants found
respectively are

TR 3ng) a0 okt ‘A'eB Jv ), BT dodabud ub)
AR0ing FABD, €7 IS 23S DS tigo dry Aabo g s, D’
D ?ocg AR OV OV ?og af)aa'"%aiml £9A% t’.g)f;asad)b A8 & 08) ) AT
& Deorr SRFHRADD
Options :

Spirogyra, Miucor, Funaria, Cyeas

67007, awyse6, YyBoatr , PES

1. %

Marchantia, Ginkgo, Spirogyra, Selaginella

A0, 0207, oS, 20\670", DeraIyr
2.¢

Marchantia, Cycas, Laminaria, Sphagnum

J.’Uﬂcﬂz,oéaiﬁ, DED, erI6atr, I ’Zl“ij
3, % = )



Volvex, Pinus, Funaria, Salvinia

TSy, DOV, Q)DoALF, &%Dﬂﬁ

[ - B

Question Number : 5 Question Id : 5500532565 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Placentation in which ovules develop either on the inner wall of the ovary or attached
on the peripheral part

0T worrsabed 9 Akepsd Go HER erfop 0 6d08) ) God

e.aodaf*igio g8

Options :
Axial

092,03

Basal

S

Parietal

Eoc:i}s

Central

Soghw
4. % 7



Question Number : 6 Question Id : 5500532566 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The number of identification characters for the Bryophyllum from the given list

* Monochasial cyme
o Epiphyllous buds
o Leafnotches
 Adventitious roots
o  Whorled leaves

& 308 fabsw&rﬁ FT Aowd YOUrDY axs); HBeR) VETTY Vo
o gThab ydo
o DF 08O Morfen
» D) Mok
¢ NG D
¢ JVOIrTO DTW
Options :

6

Question Number : 7 Question Id : 5500532567 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A flower has 6 stamens out of which half are removed. The total number of male
gametes produced from that flower if each lobe of its dithecous anther contains 26
pollen mother cells

8 08" 6 F00dorevote DS A 49000 SuBaRBAND. 2O Hwo
&' 26 bovfden ardydmen do B 488 2o STen SDAD & ik
bcbm DR Qe o2
Options :

1248

, o 2496

4992
3. %

3498
Question Number : 8 Question Id : 5500532568 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following

List I List II List III
A) Emasculation [) Endosperm 1) Perisperm
B) Triple fusion IT) Beet i) Hybridization
C) Persistent nucellus [1T) One cotyledon i) Castor
D) Scutellum IV) Removal of anthers  1v) Grass
200050
oAl | oIl o I
A) Diponsses I) 0060 i) 85,30
B) S003r o II) 22 ii) Dogdeao
C) AL worrod: Seareo I)ASDw ¢¥o iif) e2d30¢50
D) ) 80 IV) o S0 Ghdokwe  iv) fic.
Options :

., Aliv, BIITi, CIIi, DIViii

- AIVi BITit, CIIIi, DIv

3 % Aliwv. BIliii. CIIT1.. DIV 11

4 v ALV i, BTii, CIIi. DT iv

Question Number : 9 Question Id : 5500532569 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Identify the group of plants belong to the same family based on the floral formula
given below

& 300 f&é&m&é @ﬁgﬁbﬁdc‘ao o3BT 23 £008TAS BB MSGU
N30eradrdy Moo,

Br Ebrl G0 P+, G,

Options :
Atropa belladona, Asparagus racemosus , Allium cepa

e85 D YLD, 80y TPID GO0, ©99a D D

1. %

Cestrum nocturnum, Datura metel, Nicotiana tabaccum

D0 TEY) ), Serd e, DEBatrar ders
2.%

Allium cepa, Gloriosa superba, Dracaena anguistifolia

29D DI, FOAIrPI DT, GRHT° 0PI Ol
3.¢

Colchicum autumnale, Petunia alba, Nicotiana tabaccum

570y 52 es0d)) &5, DeVDaLe esery, DEatror ersa
4. %

Question Number : 10 Question Id : 5500532570 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The metal ions required for the association of the two subunits of the prokaryotic
ribosomes

Sogsd 1Peq Ao’ G5VR 0D Both 6 HarETLR BV WBIRD
&P woirR e
Options :

Sodium
| % JEalo

Magnesium
5
L v o) 22050

Calcium
so @)oo
ol

Potassium
e louble

Question Number : 11 Question Id : 5500532571 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
The following cell organelles are considered as endomembrane system
0S8 S(E5 SIS’ ertforr & 08 SETOMTYRY Wokrt)
Options :

Mitochondria — Lysosome — Endoplasmic reticulum

E’srod o - G e - wosbd gdgreo

1. %



Endoplasmic reticulum — Golgi complex — Chloroplast

0S50 B0 - m% Q080 ~ 3378 Tewsd

Endoplasmic reticulum — Lysosomes — Peroxisomes

053855 Qw0 - SV EW o — TSI e

Endoplasmic reticulum — Golgi complex — Lysosomes

90585 G ereo - TF’Q 20800 — G e
4.

Question Number : 12 Question Id : 5500532572 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If chromosome number in meiocyte of rice is 24, then the chromosome number in the
pollen grains is

i

58 Dofrab §arde %030 24 0N DT AGEDS'D Eard o
Kma}é

Options :

1 % 24

48



Question Number : 13 Question Id : 5500532573 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Match the following
List I

[) Palmitic acid

II) GLUT -4

I1I) Chitin

IV) Cellulose

308 TR BSHEEW
List I

[) 88 essv0

II) GLUT -4

III) Bedo

V) bwiseﬁefo

Options :

ListII
A Arthopod
B. Cotton fibre
C. 16C
D. Glucose transport

List I
X ejgﬁﬁé

B. 28 ordo
C. 16C

D. 4rER darew

L ICiIv.IIDi II Aii IV B ii

_ IBiui, MAiv, IID1i, IV C1

- IDii, IC1, T A1, IVB1v

. 1B w,. IIDiui IIC1L IV Aii

List ITI
1) Protein
i) Complex polysaccharide
i) Amino sugar
iv) high no. of -CH, groups

List III
i) TS

if) 2082 7300

i) 00 5], 6en

iv) sy JQD-&}?SQSE —CH,
NOTIFL)



Question Number : 14 Question Id : 5500532574 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The cavities in the vascular bundles of monocot stem
NESTDR S0 TYS D)orwes D £HirTren
Options :

Lysigenous cavities

eod2red SoTPTRe

Metaxylem

@oeﬁgmm@

Large protoxylem

DG VBB TED

Mucilage canal

200 sSTe0D

Question Number : 15 Question Id : 5500532575 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arrangement of vascular bundles and bundle sheath tissue in Monocot stem

EOY DS 00 TITEN0RPL 008 BA%L Moy S a3,
SE32° a0
Options :

Ring and Sclerenchyma

2035 G000 803 &St w0

1. %

Scattered and Sclerenchyma

WP B HB03 Gy&ESereo
2.V

Scattered and Parenchyma

W 303 2080320 D0y Sew0
3. %

Scattered and Collenchyma

S BN nblobiPublolevsh) “gﬁ@%‘sm SEI2FV0
4. %

Question Number : 16 Question Id : 5500532576 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Identify the common character present in both dicot and monocot stems
Bes¥ha B0 ISV Da Sotitnw BodollS” &by U FEdn Vo
thBocsoét.

Options :



Pericycle and Endodermis.

DO Q0003 WoBENG] .

Open vascular bundles.

Dy TYS® 20T,

Well developed large pith.

BT 29860y 8 WoB& cﬁaﬁg.
o £

Comnjoint vascular bundles.

O3NS TPS® 0T,

Question Number : 17 Question Id : 5500532577 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Following is not a part of symplastic system.
306 e DorD SIS &S° 2t S°8.
Options :

Plasmodesmata

55’3@&5}5 Al AR SS
1. &



Cell membrane

Shrlaln]
2. # ‘S °

Cell wall

S£380t50
3. ¢

Cytoplasm

Seagdeofo
4. %

Question Number : 18 Question Id : 5500532578 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Structural elements of cells
SETR QTS S QPO
Options :
Nitrogen, Phosphorus. Potassium and Oxygen

DD, FRNER, Teraoho 8ok 88 wd

Nitrogen. Hydrogen. Oxygen and Carbon

DTS, FrERD, 83w S8 S6DHHD
2.9



Magnesium. Potassium, Carbon and Chlorine

206 2080, TEP0L0, S6,DED BoI 65

Oxygen. Nitrogen. Sulphur and Potassium

532, 'R, Doyd ddakn Ferdodho
4, % '

Question Number : 19 Question Id : 5500532579 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Substances that undergo upward or downward transport
aagé T 0985 0000 BT°ET DO DTG

Options :
Organic and mineral nutrients

20805 Ho80tn I VST

Water and minerals

_ D 80350 dJaren
Minerals and plant growth regulators

DL VoI D) v DB VooGsTen
3. %

Hormones and Amino acids

y v 58,0 en 208k VRS e



Question Number : 20 Question Id : 5500532580 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Match the following
List - I List - IT
A. Pollen germination i. Sulphur
B. Synthesis of Auxins ii. Calcium
C. Stabilization of protein structure iii. Boron
D. Synthesis of cell wall iv. Zinc

308 TR 23 HELOAW

erdor -1 edae - 11
A, DTt dowSdoL 1. DON6
B. &5\ © DoFies ii. S°®ao
C. TAS ooy ewehy & DA iii. e5"or
- =
D. Seasd(es DoFee V. 205
Options :

A-iii. B-11,C-1, D—1v

1. ®

A-iit, B-1wv,C-1,D-1
2. ¢

A—-ii,B—iv. C—1ii, D—1

3.

A Biil; C-iv. D —i
4. %



Question Number : 21 Question Id : 5500532581 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Co factor that forms coordination bonds with side chains at active site of enzyme
o Sirae) Faw S Sﬂé%éaoaawvé& D00 LTV DG
r5R0S0
Options :
Prosthetic group
@?géf‘)é P bblalovtlobh

1. %

Co-enzyme

e DoZD
2. *

Metal ions
S5°5 esoraD

3. ¥

Apoenzyme

05 JoB
4, *®

Question Number : 22 Question Id : 5500532582 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The reaction that do not contribute for proton gradient across thylokoid membrane.

GUSOE RTOSDBVER TS DInSH SIS

Options :



Splitting of water molecule on inner side of membrane

Scso S0P D& e DB \BD0 2630

1. %

Quinone cycle

- égf.& Serodo

Removal of protons from stroma for the reduction of NADP

5505 &00d &S v NADP 5050866 §0 Sofodedrn
3. %

Electron transport from plastocyanin to PSI

TS Ao PSI £ 260 JUFS Sorer
4.4 ¥

Question Number : 23 Question Id : 5500532583 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Assertion (A) : Photorespiration is a wasteful process,
Reason (R) : There 1s no synthesis of sugars, ATP or NADPH, instead ATP 1s
utilized and CO is released in photorespiration.

AS8w (A) : 5708 ?Srbéozb 28 QDA RS0,

g (R): 5708 ?S@é@‘.bt‘iﬁ ATP &z NADPH en mogaa0terced),
2o ATP dAarAoed CO; dEG)BR08.

Options :

1.4



Both A and R are correct. R is the correct explanation of A.

A H080i0 R Goctr DB, 208030 R 908 A S 2800 dddes.

Both A and R are correct, but R is not the correct explanation of A.

A H8080 R, Godor 2800, 35 R 9208 A £ 280HA JH8e se60.
2. %

A 1s correct but R 1s incorrect.

A 2356 52 R &2y
3. %

A 1s mcorrect but R 1s correct.

A 83y 529 R 28%6.
4. %

Question Number : 24 Question Id : 5500532584 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

This event occurs during electron transport system and oxidative phosphorylataion of
mifochondria

DE'T0LAS Jod s 250 Sdai wsy96m FI\OTUS adrdsYN
& ©90%0 S0t
Options :

Succinic dehydrogenase transfers electrons to NADH dehydrogenase.

23105 arEadd Jozd v NADH cirEads £ S5y,
1. % =



FADH; donates directly to Cytochrome ¢ reductase.

FADH) Qo350 00 36 2885 ¢ 8658 D S6dawm

Cytochrome ¢ reductase donates electrons directly to ATP synthase for the synthesis
of ATP,

DI ¢ 8638 ATP 203 S8 oz vko Sdorr ATP 2o £ Bodaini

Oxygen acts as the final hydrogen acceptor.

23120 0085 FFERD DEGT DD 8o,
4.9

Question Number : 25 Question Id : 5500532585 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Correct sequence of the development process in a plant cell.
WS A t0¢)” 2603 STAI N 2SO oeodow) B SN o,
Options :
Meristematic cell — Expansion — Differentiation — Maturation

Dwa}gémwwém — A0 — DBSHo — DB
1.4

Meristematic cell — Cell division — Plasmatic growth — Maturation

Qm&gémwuém = dnadas — éﬂ}b&ﬁé DEALEL — OIS
2.

3. %



Meristematic cell — Maturation — Elongation — Senescence

Daraaémwuéeao - ?.’Jﬁi}éSe:% — TFeoRSHEE — mgs?gra

Mature cell — Cell division — Meristematic cell — Differentiation

DBDS(Se0 — SEaBR — Dwasémwuéeao = B0
4. %

Question Number : 26 Question Id : 5500532586 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The following plant is submerged and suspended in water
d08 oo Qo ABS” HIH BB &0 2008),

Options :
Salvinia

«5‘?&)5:3053'“

Utricularia

aoogd S0y 8ol

Nymphaea
Qoo

Vallisneria

a9 2Badir
4, %



Question Number : 27 Question Id : 5500532587 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Choose the correct choices that have a compound impact on ecosystem goods and
services.

A Participation in developing community garden
B. Use of artificial fertilizers

C. Natural pest control

D. Increase in consumption

)

333069 SR SRVYLY B NIV VOZR VTR Wred VT DTV
20) § 0.

A, Fdorerd emRITY Joy

B. §,35 o o

C. dire 08 T

D. DDOEJW:JA 20T
Options :

" B.D
’|_%-$

,»AC



Question Number : 28 Question Id : 5500532588 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Assertion (A): Infectious agents can be passed through the filter
Reason (R): This filterable agent is responsible for disease.

B0 (A) : T°(d SPES0 IS Sogre T HOSrEdocHR
5600 (R) @ 3§83 T°6mo & Todab °65o
Options :

Both A and R are correct and R is the correct explanation of A,

A 6030 R 00 Gokor 280, 2080i0 R 908 AL D8R Dd0es.
1.+

Both A and R are correct but R is not the correct explanation of A.

A S08030 R &0 Gokor 28R, 5°Q R 98088 A% D8R Dddes 5°¢0.

A is correct but R 1s incoirect.

A 2356 5°d R S,

A 1s mcorrect but R 1s correct.

A &2 5° R 2388,
4. %

Question Number : 29 Question Id : 5500532589 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following

List -1 List —II
I. Helical virus A. Bacteriophage
I1. Glycoprotein B. Rabies virus
III. Complex viruses C. Influenza virus
IV. Enveloped virus D. Measles virus

308 TP 2¢h DHEVAL

Do — 1 erdaor — 11
1 r-b&:]&.: Pelo ) A wé&rﬁri}eﬁ %)
II. 58 D’OD B. 3D D63
III:’oo%‘;‘.& DER e C. 20 YHArozr D6
IV. 5\ B DD e D. 025 PED
Options:

IB IID I A IVE

1.4

IB ImIC oo IVA
0. #

1€ ITA IIIB IVD
3, #

A% IB IIA IC IVD

Question Number : 30 Question Id : 5500532590 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



This 1s the cross between F; generation and either of their parents
& 205680 00th I S0 g LR T8 3B Goud IFT g Ay §

2L
Options :
Dihybrid cross

ALRD083 Dosdeso

Test cross

263 Hosdeso

Back cross

E’:r%;j 2Dos8e30
3.¢

Monohybrid cross

&0 Doddeso
4. %

Question Number : 31 Question Id : 5500532591 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

From the following choose the correct statement related to mutations

&3\85¢TOD 00080 S8 TES” HBEHD (e otsol.

Options :
Changes in phenotype of organisms only

BDR SyB(ErD0S” BTG BN

1. ®



Changes in genotype of organisms only

2.

| BV By G065 A SUICONE

Changes in phenotype and genotype of organisms

2o 20 S8atw cﬁg,%éwaaée SN0

3.¢

No change in chromosome number

Fardo o 20850 ATEy Do

4. %

Question Number : 32 Question Id : 5500532592 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Match the following.

Set -1 Set - 11

I. DNA Ligase A. Polymerisation
II. DNA Polymerase ~ B. Introns
I1L. Splicing C. Joining
IV. Ribozyme D. RNA Enzyme
Zo8 TR & DB,

Al | dae 11
I. DNA §/& A, Qodsde
II. DNA 9008 B. Q0rR
IIL 200 C. St
IV. 3eS'& 0 D. RNA JoZao

Options :

Set - III
1. Okazaki fragments
11. Reactive & unstable
il. mRNA
iv. One direction

edoe I
. 2202 DodTew
i1, ) bk eﬂfgdo
il mMRNA
iv. 23 &%



I Cu 1IIA i I D 1v W Bi
L '€ 1 IID i III A 1 IV C iv
L 1A v HB I I C u IV D iii

I €1 II A iv III B 111 IV D ii

Question Number : 33 Question Id : 5500532593 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Sickle cell anemia is this mutation and occurs due to change of these amino acids.
NS 28 WANOIE & 6\090%0 Bk & BT Bare ArdHw Ul
S{IVIpbInGE
Options :

Somatic mutations :; Alanine — Valine

7068 &d\858Ten | 9D - 70D

1. %

Point mutations ; Glutamate — valine

Dot &S3\8H8Ten | (PRS - O]
2.¢ N

Deletion mutations : Valine — Alanine

DB &S B8DET 1 T7OS = VOIS
3. %



Frame shift mutations : Glycine — serine

P N ES\BDHET 1 GO — B
4. % N

Question Number : 34 Question Id : 5500532594 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

This committee of Indian Government takes decisions while introducing genetically
modified organisms for public services.

0ar 90 SE9D aR0jard G EPHOdL PFRROLLD erdd HEdE0 dnS) & S
dbairen S otod.
Options :

Genome Engineering Action Committee

5320 202DB0H a3rED L8

1. %

Ground Environment Action Cominittee

Tl AT 05 AIrES St
2. % -

Genetic Engineering Approval Comimittee

ZAE Mo DBoA HTHS EDoed
3. v

Genetic and Environment Approval Committee

ZIDS & DTV 085 RTHS £08
4, % -



Question Number : 35 Question Id : 5500532595 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

5! - GAATTC -3
3 - CTTAAG -5

Mention the Nitrogen base sequence name, restriction cut sites and type of cut ends
in the above DNA fragment

2% 9yd DNA 086D dgad Fo0 600 §i0 T, a@gé oF
568 HETen 8oy JEH Sder Bupiw
Options:

Recognition sequence, A & A. cohesive ends

13803 HHD Sdren, A & A, DoDoxd Sdew

1. &

Palindrome sequence, G & A, sticky ends

FOD ES5 Zdren, G & A, 308) S Sden
2. ¥

Endonuclease, T & T. staggered cut

Do&drgdaird, T & T, P16 B3¢
3. %

Ligase sites, C & T, sticky ends

S8 AT, C & T, 09d5) S Sdewn
4. %



Question Number : 36 Question Id : 5500532596 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Assertion (A): Bio piracy is use of bio resources by multinational companies with
proper authorization from the other countries and people.
Reason (R): Industrialized nations are poor at biodiversity but rich financially.

3y8o (A): £AFRER SR BiR0Y 20 Sodey 3% 8T 08 DYed D6 drw
Jor Pho 20d B SHGOR TEEIS EDERAL.
sé0 (R): IV) FOFE GTren £ PAG[0E DEBLAT otrow, S S
DGO GRS,
Options:
Both A and R are correct and R is the correct explanation of A.

A H08a30 R a0 Sotlr 28, 080w R 98008 AL DT DHbes.

1. &

Both A and R are correct but R is not the correct explanation of A.

A 08030 R e Godr 28D, 57 R #9d1dd AL D8 DdHde 5°e.
2. %

A 1s correct but R 1s incorrect.,

A 9356 59 R 82y,
3. %

A 1s mmcorrect but R 1s correct.

A &2y 5° R 238,
4.



Question Number : 37 Question Id : 5500532597 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The transgenic Flavr Savr tomato carries cloned genes for
A. delay in ripening process

B. longer shelf life

C. added flavors

D. vitamin A

28] 2608 J36 D36 APE §Voh 24PV S08 E6L $DA cotod.
A eﬁ%ﬁom :;6:3559

B. QSJaTb 3@5 5°00

C. 98308 PR

D. DS - A

Options :

1« A&D
, x A&B
;s x A C&D

1vAB&C

Question Number : 38 Question Id : 5500532598 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Parbhani Kranti is a variety of this plant and resistant to this

DB\ 00 B 6 Ag), dSn B B3 AP $A cotod.



Options :
Sugar cane, red rot

SO 56, DG W0y
#

Abelmoschus esculentus, bacterial blight

- DeES SR, O D), Toed, w%&o&r BJ0ES Broew

Cow pea, bacterial blight

L . S0, erg808r Andd Shen

Abelmoschus esculentus, Yellow mosaic virus

eV ) D DR, TODR, DAYy A0S DD
4.

Question Number : 39 Question Id : 5500532599 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Assertion (A): Bioterrorism involves the actual use or threat to use biological agents
to spread fear or mflict death and death of large populations
Reason (R): It paves way for the development of new vaccines and therapies

Ao (4):  exddr BY6zo & HAUrS B doer & TR OTPTTOR
IR Bobo o Qaddd (el Senl ZJr J&)H 2
ST aer SaPow.

somo (R): 26 §¢ dsoiy, 3 ST AT BDHG DO Deorr
WS SrT°R)) 66O,

Options :



Both A and R are correct and R is the correct explanation of A.

A 8030 R 0 Gokor 208, 08030 R 90d& AL 28R DO66s.

Both A and R are correct but R is not the correct explanation of A.

A S08050 R 20 Godtr 23832, 570 R 09800 A% 230 DH8E 5°6.

A 1s correct but R 1s incorrect.

A 2358 52D R )y,
3.¢¥

A 1s mcorrect but R is correct.

A &2 5° R 238,
4. %

Question Number : 40 Question Id : 5500532600 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Composition of biogas produced during sewage treatment is
S0 ARG DAL &3\ Boedd WAL C0E) Ly

Options:
methane, oxygen. hydrogen sulphide.

1. %



hydrogen sulphide, methane. oxygen.

ERD DS\E, B, 982

a

hydrogen sulphide, nitrogen, methane.

TERD DG\E, B2, WBD.

3. %

methane, hydrogen sulphide. carbondioxide.

B, TERD DT\E, 6\ & 65\E.
4.+

Zoology
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Question Number : 41 Question Id : 5500532601 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The method of representing phylogeny by branching diagrams was introduced by

58 D% 888% 7D Sardgore Ardod HESD HHEOHIA,
Options :
Lamarck

@mﬁgj

1. %

Darwin

. m&sé

Ernst Haeckel

D5y H 5S

Mendel

Qvocked

Question Number : 42 Question Id : 5500532602 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following

List I
A. Red panda
B. Siberian crane
C. The black buck
D. Pygmy hog

S0RTAR hHBIBEW.

a@sl
A. 8 o
B. 283805 Sof
{ S‘;‘,g 205
D. mmmg 208
Options :
- AW By .0
£

5 % Am B.w

L« Adi B

C.iv

D. 11

D.u

D. 1ii

4% Aui B.iv C.ii D.i

List IT
1. Grus leucogeranus
ii. Antelope cervicapra
ii1. Sus salvanius
iv. Adilurus ochraceus

‘;JQS II
i (Jo E.U"Jgﬁ B0
iil. atrodlel'd DO(s
iii. o fﬂﬂefsﬂa,ﬁé

v, JWJ::J’{J 950D

Question Number : 43 Question Id : 5500532603 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In eucoelomates the mesoderm comes into contact with endoderm of alimentary
canal to form gizzard and stomach. This is referred to as

Qe85 0’ Sd[eio eirsRY wod gbaog H0gocdo J6\GEED eodsd
2680, ET300 o8 ErroR) DR DESEFD) JotrdD.
Options :

Cephalization

%ge:&

1. %

Primary induction

TS DG
2. %

Tube-in-a-tube plan

TePoeS TP DT
3. %

Solid body plan

206 DOIDGSD
4, %

Question Number : 44 Question Id : 5500532604 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Assertion (A): Pseudo stratified epithelium gives the false appearance of stratified
epithelium
Reason (R): Pseudo stratified epithelium is made up of more than one layer of
cells to provide protection against stress

Ddydo (A) | arde €Y 206 v SAR08
50 (R) : T(ROS 60398 wssold 2 Yo God wdd dvod
68,0608

Options :

Both A and R are true and R is the correct explanation of A.

A H08050 R Godior 280D, 08050 R e9dodd A £ 283 daddes.

Both A and R are true but R is not the correct explanation of A.

A 508050 R Godir 2833, 520 R 09008 A £ 288 Dddes o6.

A 1s true and R 1s false.

A 2838 520 R 2838 ¢,
3.v

A i1s wrong and R i1s true.

A 2B 5260 52 R 2828.

Question Number : 45 Question Id : 5500532605 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Bilateral symmetry is observed in
A. Aterias
B. Bipinnaria
C. Adult gastropods
D. Auricularia Larva
E. Brachiolaria Larva

BTG FQRB0 SrHID
A, PBOITD
B. 80:) 80
C. ¢ I Lapew
D. 93553?5660&“ AoZso
E. ersSadradodr cGozdso
Options :

. B, . E
1. %

AD
2. %

A.B.E

B.D.E

Question Number : 46 Question Id : 5500532606 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Choose the incorrect statements regarding Hemichordata

A. Stomochord extends into proboscis
B. They have ventral heart with closed type of circulatory system

C. Development includes Tornaria larva
D. Cloacal respiration takes place by respiratory trees.

EJ'E’QJS‘JQQJ £HOL 20200800 VOV VIO Do A3
A Jarss doottaw &§'8 DRBood
B. &4 rydabo do Hodd H6m S8 ety
C. 0d0)0 & &r3) 6o coziso Gotd
D. 00:5%) 8 TR0 TGO T0° D

Options :

1.vB.D

5 x BC

B.C

. A D

Question Number : 47 Question Id : 5500532607 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Choose the common characters shown by the animals of classes Scyphozoa and
Anthozoa

A. Mesoglea is non cellular with amoebocytes
B. Cnidocytes occur in ectoderm and endoderm
C. Germ cells are derived from endoderm

D. Coelenteron is undivided

@JTJGZSGJ, $300H T St Bdeed &) Grr S0t L
A, DB[EY 00 Satirdore o waes D v ¢heotsdd
B. dotdmren erimiit o &'& wodait,o 8'& eotrax
C. Dasrren ©odeis,o K0c o\

D. NS0T wdzgm

Options:

Y We

Question Number : 48 Question Id : 5500532608 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following

List I list II
A. Gorgonia i. Marine leech
B. Pontobdella 11. Sea Urchm
C. Balanus i11. Sea Fan
D. Echinus 1v. Rock bamacle

S0 TP RSDEEND

DS 1 D8 11
A. 8ok i. A0 e
B. JrotS'der ii. & 98\
C. eerda 111, 2OE DDSY
D. J35 iv. o°5 &5°6) S
Options:
A—1, B—1 C=iv D=1
1. %
, « A—ili B-iv C-ii D-i
~A-1iv B-i1i C-ii D-in
3. %
A—-ii B—-iv C—-1 D-iii
4, &

Question Number : 49 Question Id : 5500532609 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Blocks of muscles found in cephalochordata are
b@ﬂﬁe?éey 2DVSD Locts) Sten
Options :
Mastigonemes
SR DBV
1. % =
Myotomes

S0a357e5 e
2. %

Myonemes

203D B0

Sarcomere

F8) Doasd
4. % ]

Question Number : 50 Question Id : 5500532610 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Identify the functions of diencephalon in frog’s brain among the following

& 308 TN 0\ WS o8 Ho Aerosd Doy hocsod
Options:
Involuntary movements and sense of smell

9 J0H0DS SIS S80I DrEFS

1. %



Perception of cold and equilibrium

B9 ghlelelnlatoRrobloler ol ‘-’J&.‘l.'}@‘*?g@ i}dgﬁ?ﬁ'&
2. % |

Perception of heat, cold and integrity of autonomous system

DG, BOEHo & Botio Hdatw ":05063065&@ .;5555"%3 ‘é};ﬁjﬁ’)ﬂgﬁija
3.¢

Perception of heat and sense of sight.

& TS0 20805 Sy,
4, % -

Question Number : 51 Question Id : 5500532611 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Select the set of characters equally shared by reptiles and aves among the following

& 308 " WBRyTen BALL DHVE &) A $wodd Vw0

Options :

Pneumatic bones and powerful breast musculature.

TR 208080 IR0 &diSodTren.

&
1. %

Interclavicle. uricotelism and megalecithal eggs.

0036 230%, 030BE BO20 LB VA HBE .
2.



Urinary bladder and Furcula.

QATPTPBCAI0 2DB8a3L t;:mdjbéeﬁ.
3. %

Furcula and keel.

D), SO0 &e3.
4. %

Question Number : 52 Question Id : 5500532612 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The structure formed as a result of amphimixis is

&0 DEL0 HOD ﬁ)cﬁ;}m Do), L2500
Options :
Pronucleus

F3),08%0

Opisthe
203

2. % B
Proter
6

et

3. %

4, &



Synkaryon

2oo3ng Soggo

Question Number : 53 Question Id : 5500532613 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The structures of the parent that disappear during binary fission of Euglena and
develop afresh in daughter euglenae

QAR BE° DG PS0k0d 2 Epod Lostod Tow, DY AP
S8 6y& v een
Options :

Flagella and kinetosome.

S350 Qo803 FHET V.

1. &

Nucleus and basal granule.

SogSo ool e Se3s.
2. %

Chromotophores and cytoplasm.

§ 205V e 28030 B5BD(0.
3. %

Stigma, paraflagellar body and contractile vacuole.

S0 ), DESTBBT0 LB Vo8BS,
4.+



Question Number : 54 Question Id : 5500532614 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Identify the fungal disease among the following
& 308 70S" 30og T B HBotsod.
Options :

Common cold

oG 25008

Pneumonia

QJSZU“DDJP

Ring worm

Boh &55&

Typhoid

Question Number : 55 Question Id : 5500532615 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Hemozoin is

SFATEOND s



Options :

Insoluble, crystalline substance released during malarial parasite mfection.

HoT6asr Tyt Dersedhy b@aesﬁ 4609 2\ B5s0e Herdo.
1.v ®

Soluble, amorphous and released during pneumonia attack.

AP(DEAOLT Dogaues” Doy .'-’.'Jﬂ;be.‘ie 5600 QOFEYRD Debo.
2. % : ®

Antigen released by plasmodium.

L, TV Gabo Do S DIwBLo.

Antibody released by malaria patient.

4 ST TBAE D 5D DS 850,

Question Number : 56 Question Id : 5500532616 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The larval stages of the parasite that causes gigantism in snail is

& DD D3 BB Gos Een HSS BT Tor A ohS
066 o
Options :

Ascaris

. 93.5“&&53



Taenia solium

B3> J*®adro
2. S

Monocystis
DS ik

3. % =
Fasciola hepatica

DB st
4.

Question Number : 57 Question Id : 5500532617 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Assertion (A): Monkey is the reservoir host of malarial parasite.
Reason (R): Malaria 1s transmitted by monkey bite.

DA do (A) : & 2T DTD) £ BE), B0k wABow.
56630 (R) : 88 $65¢0 Hp HT80Sr T7& DogR00s.

Options :

Both A and R are true and R is the correct explanation of A.

A 58030 R Botor 28R, 8050 R @9:0808 A £ 28D dddea.

1. %

Both A and R are true but R is not the correct explanation of A.

A 28050 R Botr 2853, 520 R 00088 A € 288 dde so.
2. %



A 1s true and R 1s false.

A 2858 52 R 2338 s°¢.
3.¢

A is wrong and R is true.

A 2838 5°¢) 5 R 03858,
4. %

Question Number : 58 Question Id : 5500532618 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The production of the flowers in response to light hours in a day is
w8 B2’ ©D0Bd 5708 5°erAS YO EB\B D 065D 96y
Options :

Photoperiodism

e 808 d 20 (5P0h Soersd)

Photatropism

5708 90080
2. ®

Phototaxis

SP0ed e9ALTILAN0



Photokinesis

SP0ed 89RO

Question Number : 59 Question Id : 5500532619 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Identify the correct option

Statement — I : Some insects add glycerol to their blood as antifieezing agent
during winter.

Statement — IT : Insects are temperature regulators.

B D5 Dok
| -1 1 Shsew 380 Tovnes 6508° RS erofd POV
D 9 85 TodoTraw.
i) — 11 Shse ed'de g,
Options :
Statement I and II are correct.

S atleles Ul | felclab iR Slclob VLN EOR

Statement I is wrong and II is correct.

gy 1 20578 0ocin 1T DEADLIE.

Statement I is correct and IT is wrong.

°(ef I DOADIG 5 11 2OAS.
3.v



Statement I and II wrong.

SRR I S08aix I1 D8s5700.
4. %

Question Number : 60 Question Id : 5500532620 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Identify the correct option
Statement — I : The contraction of internal intercostals muscles and lateral

abdominal muscles help in forced expiration.
Statement — II : The contraction of phrenic muscles increases the volume of the
thoracic cavity in antero-posterior axis.

8ELA PSR Dotk
T~ 1 1 ©odt D Tos6 Socorey, &d;‘-é E56 Sodore D08t Dok
DY WD AT 2AHB0E.
i) — 11 dgsye Sotioe Do8tto vy P6(-06 w508’ 66
2RV0E0 DAMDSVR.
Options :
Statement I and II are correct.

a3°{ 0§ [ Z08ain I Sodse DBADAD.
1.¢

Statement I 1s wrong and II is correct.

(@0 [ 2835708 080i0 11 2BCHAE.
0.



Statement I is correct and II is wrong.

°ga0f 1 DO0HLRE 52 II 2O,

Statement I and I wrong.

T°§a0] [ Ho8ain 11 28s5°0d.

Question Number : 61 Question Id : 5500532621 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Assertion (A): The egestion of faeces to outside through anus is a voluntary
process.

Reason (R) : The undigested wastes in rectum initiates neural reflex causing an
urge for its removal,
Ao (4) : WVDTTA) 050 o0 oS Dodcio oG HS0H
sdmo (R) : 260 5 Syzren BT T BTG S6[RR I6\6)
2035 00D WEIR,

Options :

Both A and R are true and R is the correct explanation of A.

A 08050 R Bodr 280D, 08a3n R e9ddd8 A £ 28 Ddea.
1.4

Both A and R are true but R is not the correct explanation of A.

A 208050 R Bodr 2803, 520 R 00306 A £ 283 Ddde 5°6.
2. #



A 1s true and R 1s false.

LA 283 57 R 2808 s7ch.

A is wrong and R is true.

A 2336 5760 52 R 2316,
4. ®

Question Number : 62 Question Id : 5500532622 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Match the following

Column -1 Column —IT
A. Glomerulus 1. Essential nutrients. 70-80% water and
Electrolytes are reabsorbed.
B DO il. Maintenance of osmolarity.
€ BT il Filtration of blood.
D. Henle’s loop iv. Secretion of H and K ions.
308 TP BSDEAD
edg -1 p8d 11
A, BothoR i, edddRR Taseen, 70-80% 6 B0k JeS gk
2T Q0.
B.DCT . AersBd AoHodocb).
C.PCT i, g0 dog), S,
D& 35w iv. H &80t K e0irs rodaw.
Options :

A-1i.B-i,C—-ii,D-1v

1. %



A-w,B-i, C—1ii, D —1ii

2. %
A-1i.B-1v.C—-1.D-ii
3.¢
A-ii,B-i1ii,C—iv,D—1
4. %

Question Number : 63 Question Id : 5500532623 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Assertion (A): Dengue fever is caused due to failure of clot reaction
Reason (R): The patient of dengue may require transfusion of blood platelets.

Qdydo (A) 1 2,068 DG W] JDVDINY Y Eorl] TB Seurbor.
w0 (R) : Gorb (6 803 ghudsen I3 oBwd eotwod.
Options:

Both A and R are true and R is the correct explanation of A.

A Ho8030 R Bodtr 28D, 8ain R e9fndd A £ 28 Dddes.

1. %

Both A and R are true but R is not the correct explanation of A.

A £803w R Goctr 28R, 520 R 002008 A £ 00 DHGE 5.
2. ¢

A 1s true and R is false.

A 2BAB 57 R 288 ek,
3. %



A 1s wrong and R is true.

L o A RIS 50 R 2358.

Question Number : 64 Question Id : 5500532624 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Identify the non fibrous joints
S0 AEVGHD 52D S¥HR HoBothw.

Options :

Sutures

1 % RIPORCLD

Syndesmoses
NS &Y S e

Synchondroses

DY 5708H e

Gomphoses

FodrE en

Question Number : 65 Question Id : 5500532625 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Identify the correct option

Statement -1 : Alzheimer’s disease is most common in people above 65 years
of age.

Statement — IT: It 1s caused by loss of neurons and loss of memory.
RBELY By Dot
) -1 @Qaﬁ)ﬁ:} T 65 R0/l 20D D 03D T8 ;bdsﬁﬂmdmo.
i) - 11 TRLeTe 203 eﬁﬁﬁﬁbﬁm, ggméi %"6‘\;5@0 @i)méb T 0T
Options :

Statement I is correct but II is wrong.

orjadf I 28abHG eona II Hose.

Statement I is wrong but II is correct.

e I Sy 0oain 11 28AHA8.

Statement I and II are correct.

ey 1 odoin 11 sre DOADID.
3.¥ =

Statement I and II are wrong.
T4 [ 208aiw I soe DO,

Question Number : 66 Question Id : 5500532626 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Erythropoietin hormone is produced by
DOE FonBD HLD & ed\3 B 9DoDHIW
Options :

Heart
1. % wo&

Kidney

5 @ SPGB0

Gastro Intestinal Tract

- 2BTP0gY Traes

Testes

L S0 e

Question Number : 67 Question Id : 5500532627 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Fight or flight responses are due to

Jorey SO DOrODD EQDO DE TP(O° Se0rHEraw
Options:

Release of adrenal medullary hormones and low sympathetic tone,

0BG SO DS © Dw BB Sy D VFRIPS 7S,

1. &



Release of corticoids and low sympathetic tone.

SDQSDQJJ& J) cfmé& DG b0t efs-é%.;b A AL AN SQ &oddo.
2. %

Release of adrenal medullary hormones and high sympathetic tone

B8, 63¢ HEYD © DOV BBk Iy H WHFEPS &7 8D Socitro
3.¢

Release of adrenal medullary hormones and high parasympathetic tone
by BB PBLS 0 e B 2Bk &S DY ViFArS 'S 89

G060

Question Number : 68 Question Id : 5500532628 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Temporary endocrine gland in the human body is

AT $660e5 o) 98 0od T (Jolrr HBEdoseE 0wyt
Options:

Carpus cardiaum

5‘36;}53 52800
1, % &

Carpus Luteum

5 @ Sﬂtﬁ:}i‘.‘: ngéa‘.’mo



Carpus allatum

56D 9D

Pineal gland
DD Gob

Question Number : 69 Question Id : 5500532629 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Identify of the incorrect statement among the following

$06 RAWARD TS’ DJHE 52 A Hocsod
Options :

Sella turcica is a bony cavity in which pituitary gland is located.
Sy 9.36;)3*: 928 DA Ko f,%élé.baﬁoé?) w8 D e&%ﬁgo

1. %

Parathyroid hormone decreases the Ca' levels in blood.
. F0° GUronE (o8 650D Ca™ woirgd Fond 308,
Thymosin plays a major role in T- cell differentiation.
L. Bardd T- sero DAL & DA g Jarow.
The middle zone of adrenal cortex is zona fasiculata.

0BD,E), He) 00 B @awﬁ)ﬁl o bvfoéoééw e908T°C),

4, %
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Time: 0
The condition of the testis not descending into scrotum is called

m&ng :ﬁn%ﬁmueﬁﬁé 00 S0l ?qc;:éa
Options :

Cryptorchidism

3°8) G
1.4 ex  1J

Involution

e90S 80
2. % =

Delamination
- & erDND

Capacitation

L &mgésom
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Time:0



Assertion (A): The placenta is connected to the embryo through an umbilical cord.
Reason (R): Somatomammotropin released from placenta has anti-insulin effect
on mother.

N3 do (A) : BT050Q) DTS TR T 28 BoE SR,

6690 (R) @ 200305 B0 TS ar) rdd drd)snervod aindd
DB &% Darbo BP0,

Options :

Both A and R are true and R is the correct explanation of A.

A $08030 R Gotir 283, 08030 R 908 A £ 283 Jddea.

Both A and R are true but R is not the correct explanation of A.

A 208050 R Goto 2383, 529 R 09208 A £ 252 dddes 6.
2.9

A 1s true and R 1s false.

A 28RS 52D R 2B e,
3. %

A 1s wrong and R 1s true.

A 23838 5760 52 R 23R8,
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Time:0



Match the following

List I List IT
A. Family planning programme 1. 1970
B. Pre-natal Diagnostic Techniques act i.. 1971
C.Legalisation of Medical Termination of Pregnancy  1ii. 1951
D. Advant of amniocentesis iv. 1994
2HDETAW.

0838 - 1 Heds - 11

(4] (3]

A. Sot008) Akodes SPE(Sa0 i. 1970
B. 28 6\ 88 Agrd 08888 ko ii. 1971
C. DL (fory ) S0o iii. 1951
D. €y D08, eocoeren iv. 1994
Options:

- A4 B: it @ D. i

n B Cu D.i
2. %

A.nr B.i C.iv D.iu

4.¢A.111 B.1v ¢ D.1
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Time:0



Experimental verification of chromosomal theory of inheritance was done by
§arE 5000 005094 S0z HAH RPOEorT AT,
Options :
Sutton — Boveri
- NIMSIERARSTe

Gregor Mendel

866 2ot
2. %

Thomas Hunt Morgan

TR 3P0 E'.JJ“E“EJ
3. ¢

Correns

5"55:}
4. %
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Time: 0

The expression that gives number of genotypes for multiple alleles 1s
LEFOEOL0() DEP\R 39 A6\E 2R0[EPPY Do 3D Dadsdto.
Options :

n(n+1)

v 2
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Time:0

The majority of the Rh antibodies produced by the mother in Erythroblastosis foetalis
are

QBErTDD otrdd & 39 TS 3150 6\ 3D Rh p8&Fen & S06
55703 B0HR
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Time: 0

Pattern Baldness in human is an example of

BrHHUSE” TS LB & 308 T°I3 TS

Options:
Sex — influenced inheritance
v Dol — DerdD DRSS

Sex — limited mmheritance
. Dotd — DD e9dDDoRES

Y — linked inheritance

. Y — :ame_aﬁl e9 0TS

XY — linked inheritance

. XY — “’n:a'sve.:ri‘l LoD 0TSS
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The organs which have dissimilar structure and origin but perform the same function
are called

o, o, i)d;)& Do & @mwélbgﬁé 3 6320 DB A God worre &
208 DA™ DRVPH
Options :

Homologous organs

Do) €9 ﬁﬂafué 950307

Analogous organs

écﬁjﬂﬁﬂaﬁj}s 90T LD

Vestigial organs

0 DB H030T e
3. %

Atavistic organs

e:::éyé')f;\gé e9 D aT e
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Time: 0
The early bacteria synthesized chlotophyll from

QTSR ergBoired & 0 20T G0AIrAed HEPETR) RoFie TROTO.

Options :

1.



Iron porphyrin

DED avggaa

%

Magnesium porphyrin

2061 23080 &gﬁaé
2.9 -

Sulphur porphyrin

D8 B8
3, % e =)

Carbon porphyrin

| SHENS avg;jas
4, %
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Time:0
The inactivated whole agent vaccine used in the prevention of
o o s
S%Cﬁ}’ QoY @:ﬂeﬁéb@i}g D’”éﬂjf.) SNy DarBotdead: (B
Options :
Yellow fever

NISMENCEEE

1. %



Bubonic plague

220(e5"5 2

Mumps
ghelal Py

Rubella

doeder

Question Number : 80 Question Id : 5500532640 Display Question Number : Yes Is Question
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Time: 0
The Biological value and Protein Efficiency Ratio (PER) of egg are

MG wairerass Jend oo PER (JdS dbhahdy Sadir)

Options :

- 133,25

96 %, 4.5

20 9%, 11.5

175, 109
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Question Number : 81 Question Id : 5500532641 Display Question Number : Yes Is Question
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Time:0

The existence of neutrino emitted in the f-decay along with electron was predicted by

- 5090 & JTD & e ETEEL] AREBS DRVAED ERrodd THDS
5 7 b G

Options:
Heisenberg Werner

0D 26 D6)6
] =

1. %

Wolfgang Pauli

Seﬁ:} m™oh ard

2. %



H.R. Hertz
HR. &§

]

S.N. Bose

S.N. &9
4, %

Question Number : 82 Question Id : 5500532642 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

From an elevated point ‘A’, a stone is projected vertically upwards. The velocity of
the stone when 1t reaches a distance ‘" below ‘A’ is double 1ts velocity when it was
at a height ‘h” above ‘A’. The greatest height attained by the stone above ‘A’ is

w8 &) 8 b0 ‘A’ d00c, 28 T Dy YT HED0 B, “A” dood T
1 $088 30206 D Btio, ‘A’ <08 3 ‘h’ IR0’ y8) 2\ ST Boty
0B ‘A’ Dot d00d & Traw Tobd o A

Options :

6h
TR

2h
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Question Number : 83 Question Id : 5500532643 Display Question Number : Yes Is Question
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Time:0

For two vectors A and B if

E—-E‘:

E—E‘. then
A 2080350 B e 3ot &0 ‘E+E‘:‘E—E‘ﬁ 9003

Options :

A and B are parallel vectors.

A 208050 B HDaAX0sS DA%,

A and B are opposite vectors.

A 258050 B SIGCERSTS I

A and B are perpendicular to each other.

A 208050 B 0StrdSES e20800me &8)0837a00.

Angle between A and Bis 120°.

A 208030 B © Bocss Seao 120°.
4, %
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A body of mass 90 g 1s connected to a string of 100 cm length and whirled 1n a
horizontal circle. If the string can withstand a tension of 2.25 N, then permissible
maximum velocity of the body is

T3y 100 cm de 28 G0 90 g (03 (10 2,8 DY S8 £ DAToSE
)80 » GY\BoT) 0. ff 8o DA (182 B8 225N eowd &8 SRV
00800 G HB2 rfo

Options :

1

- 2.5 ms

S|
§ s
L Sms

: |
25 ms
4, ®
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Time:0



A body 1s projected from the ground with a speed 10 ms” at angle 30° with the
horizontal. The height of the body after 0.5 seconds of its projection is
(Acceleration due to gravity = 10 ms?)

28 S E0% HET0ITE 30° S0 $5 Dore Sup Aod 10ms” Sriod
D220 BT, DED0 B (.5 2S00 500 ST T A

(thdos &dtao =10 ms™)

Options :

- 0.7 m

lm

1.25 m

il

Question Number : 86 Question Id : 5500532646 Display Question Number : Yes Is Question
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Time: 0

A motor cycle of mass 100 kg is moving with a velocity of 15 ms™ on a circular path
having radius of curvature 20 m. Then the centrifugal force acting on it 1
(Acceleration due to gravity = 10 ms™)

Eag ::F]Sa“go 20m ffo a8 S50 Ardo dowct 100 kg (073 o Arértd p86
15 ms™ Briesoo & posreiin) &, wand i DB eiddod wudw

(fhdosq Sbeso =10 ms”)

Options :



-2
-2
Lh
'z

L, 125N

,« 750N
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Time: 0

Two cars of different masses have same kinetic energy. then

DI @D (10 Totdd 57 S (82 ¥S9 $D &) o, WA

Options :
Heavier car has more linear momentum

B B IZ0),D SHoH BO] Defo S ezoe0d
1.9

Heavier car has less linear momentum

B0 T B D DD G Drio ¥ eot0d
2. %

Both cars have same linear momentuimn

. 80c 578 2,8 BHADH ey Drfo S otz



If same braking force applied on the two cars, the heavier car comes to rest at a
shorter distance.

Gocty S°6R 25 §S0fh w0 PAITAeL, P S B8y e dodS D%l)vﬁgaé

Eﬁtflig)ﬁfli.

Question Number : 88 Question Id : 5500532648 Display Question Number : Yes Is Question
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Time:0
A body ‘A’ of mass my moving with a velocity of 6 ms™ collides with another body

4 3 G 5 T S L] i ']. ‘ .
B’ of mass my which 1s at rest. After collision 1f ‘A" moves with 2 ms™ and ‘B

; i WA R A m,
moves with 3 ms™ in the mitial direction of A, then the ratio of —=
m
|

GS[r3 1y o 28 S0P ‘A’ 6ms’ o & NS ?&3@6‘5 &%) G031y (o
208¢ 3209 B'& ¢ Eod. wDardo S Shwi ‘A2 ms™ Dk,

m,
S B Ims” o § S A g FI 696 9By, =

m,

Options :

4

1.¢ :

= |
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Time:0

Two boys A and B with masses 30 kg and 20 kg respectively are at the two extremes
of a boat of mass 50 kg and length 5 m resting still on water. Boys A and B move
towards each other and meet at the midpont of the boat. During the process, the
distance moved by the boat and boys 1s

(neglect friction between water and boat)

A AETe &) 50 kg ¢T3 SoBoty 5 T o w DS ST

30 kg so8osw 20 kg Qé}SU‘*%’ (e @Cgib erendd A So8ain B 0K G dedde écg
&) . £7oot> A 308050 B 288 3R B 48D B6S S5 Dotosd 36
$DFch. & DS0HY’ DED, erend B0 w60 ardo

(W3, Dy Bocs andeasty D) Bockoitw).

Options :

5 i
- 50 cm

4 25619



Question Number : 90 Question Id : 5500532650 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A solid sphere of mass 1 kg and radius 25 cm 1s at rest at the top of an inclined plane
of height 175 cm and angle of inclination 30 . If the sphere rolls down without

slipping, the maximum velocity of the sphere when it reaches the bottom of the
inclined plane is

(Acceleration due to gravity = 10 1115'2)

175 cm Q80 ook 30 en S0 Mo a8 Trendeo Dt 96 1 kg dogo-2
08050 25 em m}g.ﬁ“go Mo 28 0 Ado SEND ?g@@é s, Ao rddone 583,
©8 Td0 S08 TS 3635'3:33&3% & (82 Rale

(thdod &(deso = 10 ms ™)
Options :

- -1
I~ .
1. & " 1115
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Time:0



The equation of motion of a particle executing simple harmonic motion is given by
x = 0.6 sin 3t + 0.8 cos 3t, where X is in metres and  is in seconds. The maximum
acceleration of the particle in ms™ is
0¥ g S Yoo 5&‘.&»&3&\1 28 860 o?mézj Sk 2adto x = 0.6 sin 3t +
0.8 €08 3t 1 Q@G 9.6 X iPS” 80k t %" G0, diao
o '2
Cing) 63y Sideso ms” 0
Options :

1.%’9

, x 12

Question Number : 92 Question Id : 5500532652 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Two simple pendulums of lengths 1 m and X (> 1m) are in phase at the mean position

-

g ) . . : . 3T
at a certain instant of time. The pendulums will be again in phase at a time of —,
2

where T 1s the time period of the shorter pendulum. Then x =
28 83y 00 96 1 m B0k X (> 1m) Teapew o Gocty v &'osen 4

SIANIE g:m 8¢ 08 588 So. Fosen Lo g 500 56 8 5883

-

S0\, g T ﬁ“eg Fodo GBg) 8¢ 00 WaNd X =

Options :
1% 4m

6 m
2. %

3 @ 9m

12 m
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Time:0
Two objects separated by a distance r gravitationally attract each other with force F.

If the distance between them is tripled. the force of attraction between them is

Groo T & D dahedsd Goth S0P g odzr(dn weoo F. o6 2o
¢80 e B8 B T8 06k AT (G w0

Options :



L |

O |
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Time: 0
The materials which can be stretched to cause large strains are called as
L) DB S dt FITEAD (o SRVH
Options :
plastic materials
. TS DT
elastomers

DT 03
2. ¢ OB



metals

S, 3%

brittle materials

TR DHTTPTRED
4. % &
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Time:0

A liquid of density of 3000 kg m” and coefficient of viscosity 0.1 Pas flows through
a pipe with diameter 0.05 m with a velocity of 0.2 ms™. The Reynolds number of the

fluid 1s

Fogd 3000 kg m° &85 0.1 Pas ﬁnlgé fo w8 g 0.05 m 7R o
82300 A0z PideTodR) B, &8 Gddw ) Dffo (.2 ms™ 900 & ¢S5
a38), 5 Doa

Options :

300
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A hot fluid cools from 200 °C to 100 °C in 5 minutes. Then the time taken by it to
cool from 100 °C to 50 °C is nearly
(Room temperature = 30 °C)

8 5300 200 °C &vod 100 °C 0% et 5 Mvaren HBA. 100 °C dood
50 °C 0 Suachid HE ddoake AR

(#6 eggefa = 30°C)

Options :

2.5 minutes

5.2 minutes

6.7 minutes

4 % 9.3 minutes
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A heat energy of 150 cal is supplied to a gas and an external work of 130 T is done on
the gas, the change m internal energy 1s nearly

28 sy 150 ?59.)89.} &2 33 V60" Saec;, a0 130 T erérg D3
SO0, VoS08 338 SiBy By AP
Options :

2017

20 cal
2. ®

28017

, v 7607
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Time:0

At atmospheric pressure, 1 g of water has a volume of 1671 cw® in vapor phase. The
change in internal energy when 1 g of water changes from liquid to vapor phase at
atmospheric pressure is

(Latent heat of vaporization of water= 2256 x 10° I kg™ and latm= 10" N m’)

TG0 Do aﬁg. w%ﬁgeﬁeﬁe Ig 58 G0, 0 284700 1671 o’ orerdde
o204690 3368 1 2 ) G35 &GP0 Aoodk ey ARaPRS ArBR\(0, oS 3§ &
Ardy

(96 grangdd o0 =2256x 10’ Tke So6aty lam =10’ Nm”)

Options :



1671

2089 J
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Time:0

The change in intemal energy when a gas is taken through a cyclic process
completely once is

28 OV w8 dSab D3 (0 QPO 8T8 G Eﬁ@aéf.g_)gda 290308
336" Sty
Options :

infinity

eadoeho

very large

ZeeTe J)Ssgjsﬁ



Small but positive

Zeere e:‘aé%;.‘} s06ai c;f:aﬂ'e:‘ag3 o
4, % '
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Time:0

In the given volume (V) - absolute temperature (T) graph of an ideal gas, the
relation between the pressures ‘P;" and ‘P, is

FOND 66, Ay 08 DBreo (V) = 28 &'t (T) d &, ‘Py” SoBak

Py ddTre 20655 0830650

Options :
B,
Pp=—
1. % .
2
Pi=—
3
2. #
P =3P,
3.v
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Time:0
In a medium in which a transverse progressive wave is travelling, the phase
- aun . [m)
difference between two points with a separation of 1.25 cm is ‘ i ‘  If the frequency
\T/

of the wave is 1000 Hz, the wave velocity will be

28 oirddoed’

o
bty

DRB8) & B6[E BT SboriodD 1.25 cm Erdod 6
r'/ 3

Sabeds ot Dotospy Sud &7 6o | E 8 S6otfo Gig), Fpie

1000 Hz e008 €3 ¢dor 2o

Options :

- 10'ms™

125ms™

100ms™

10ms™
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Time:0

The relation between focal length (f) and radius of curvature (R) of a spherical
MiITor 18

w8 Besed 6ye Safoddo (f) Mwbaiw dger D"éﬁ“go (R)o 8§ o8t

Options :

W | 5
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Time:0

Aslit of width “a” is illuminated normally by white light. For red light (1. =6500 A),
the first mimima 1s obtained at 6=30°. Then the value of “a’ 1s

298 ey ‘2’ $DAB as DB $9 vow B3’ By 00 & P5iod ST,

1.=6500 A° DA Y8 5708 e S.SJ;& 6=30° .;’J%S bdbcié&. 900 ‘A" Qe

Options :



Tl
-2
h
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e o

5 % 6.5%10"" mm

3 ¢ 1.24 pm

4% 2.6x107" mm
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Time: 0

The force between two spheres with charges +7u C and -5 C 1s F. If each sphere is

given an additional charge of -2 1 C. the new force of attraction will be

+71C So8o%o -511C wd7en o Both fivee ok wwo F. 93 A3
-211C o) 83T AN T 6 w0
Options :

v F

r2 |

piey
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Question Number : 105 Question Id : 5500532665 Display Question Number : Yes Is Question
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Time:0

The electric potential at a point is given by V= ( —5x+3}-’+\/ﬁz]volt. The

magnitude of electric field at that point is
(X, yand z are in metre)

w8 Dot 365 g TS, V= (-5x+3y+y152) Suo. 00w &8 Dockos
36 D[S EQ BHS DOrmd0
(X, 7 08050 Z &0 2oe)d & )

Options :

S\E vm™
442 vVm™

52 Vm™

7 Vm’

4. &
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In the circuit given below, the charge on the capacitor Cj is

30 DD H00H0S” FI D06 C1 G DRTTDII0

2nF 2uF
IL 11
) A
f— 4 p ¥
s gl
| e |
oY - e
Options :
6 nuC
1.4
B -
5 % 12 nC
18 nC
3. %
24 nC
4, %
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The end points of a uniform wire are joined to a cell of emf E and internal resistance
‘t’. Starting from the midpoint of the wire and moving in the direction of the current,
the potential (V) 1s measured at every point till the midpoint is reached again. The
plot that represents the potential (V) against distance (X) moved from mid point is

Dcﬁ)&eﬁ w{be.}s weoo E, esoé&ﬁdc T 60 28 LKV w8 & oty S a‘.m::-é
$Dared. &1f dodsj Doty dooct DG pTir B Btf HO Dochas 56
TS Seodr 09y $065] DotoPL ST, S65] DoY) Mo AN
363 ¢irdo (x) $% Botn TEHS (V) $ docs ADD T2

Options :
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-
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Time:0

A torch bulb rated as 4.5 W, 1.5 V is connected in the circuit as shown in the figure.
If the bulb glows with maximum intensity, then the emf (E) is nearly

Dt ardgre 4.5 W, 1.5V 880h o er6y ey a8 Svabod” Seudedds.

ey (163 EDO8 50900 WHHL PRKW cing) emf (E)

45W
@1.5\'
Sl
10
AN
I
|l
E, 267 Q
Options :
1 x 45V
LSV
2. %
,x 267V
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Time:0

The particles with the following speed pass undeflected in the region of crossed
fields

S8 Sz drodod’ w80 B0t Se Hé

Options :

E B cosb

| b

(]

vy,

[ ]

Question Number : 110 Question Id : 5500532670 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The magnitude of the magnetic field due to a circular coil of radius R carrying a
current I at 1fs centre i

[ ei2§® paaro, R jhdo &) 57756 Srichoty 99 @ Sogho 96 e 08
£¢) HBArea0
Options :

Lol
2R

Hol
2R

Hol
4R
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The properties of a material required to make permanent magnets are
FH(S WO 0TV SALTEBOL DTV VLD

Options :



high retentivity and low coercivity

HS rdnIdwd B0 90 Qe

high retentivity and high coercivity

y QS ooV SO0 9AS e
2. il

low retentivity and high coercivity

2N oo S8ain dE AEsd

low retentivity and low coercivity

€90 ordtagerdd Su8ain e DTS
4 %

Question Number : 112 Question Id : 5500532672 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The correct statement among the following 1s

208 785" HTIE

Options :

Inductance is independent of the geometry of the coil and depends on the intrinsic
material properties.

3.;65@50 @ﬁ::ﬁ;g.; (BN BEPEEE) DO TR DIY VTR VLTV

BAPG BERENER08.



Inductance depends only on the geometry of the coil and independent of intrinsic
material properties.

DISAC0 BN (OB 2SR BTS00 Bk & DG R

VELTOL EPEIEND.

Inductance depends on both the geometry of the coil and mtrinsic material
properties.

20580 Brfil) &SP B D DEPY VT VLT Tocod

38008,
3. ¢

Inductance does not depend on the geometry of the coil and intrinsic material
properties.

0580 i) &S BN TrA DEPY BiPe VEFVD YETEHEED
4, # '

Question Number : 113 Question Id : 5500532673 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
A capacitor and a resistor are connected in series to an ac source of variable
B g zo ngg
frequency. When the frequency of the ac source become ;I‘dof its initial value, the
current in the circuit decreases by 50%. The power factor of the circuit at the initial
frequency 1

36 R0 o w8 ac 2ITS w8 SFVLE MOk g Mg IS

SoRadda. ac adso Ao #ég@é}gc 1)) 3“:\‘)&’.9_‘)&‘)5311)5)53 £ 3 Hod) WO,

3

300008’ &S piro 50% by, §B Fdapdio 96 Soabo o)
P8 5650
&



Options :

1

3
1.%

3
% V8

5
30 V8

=

!
w18

Question Number : 114 Question Id : 5500532674 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If the electric field of an electromagnetic wave is increased by 100%. then the
energy density of the wave increases by

w8 DEABANF) 08 Sbotfo AN, DB EG0 100% o), Sorfo Gs), 33
Fogde G

Options :

| % 100%

_ 200%
2. %



4 % 400%

Question Number : 115 Question Id : 5500532675 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

An electron, a proton and an alpha particle are moving with same kinetic energy. If
A, A, and A, are the de Broglie wavelengths of the electron, proton and alpha

particle respectively, then
w8 JoTD, w8 Terdd DBakn a wery Sndn 23 (82 358 e av.

oy, Jerdy Sbakn very 470 Gerdd ddof BT 00 ST Iy 1y

206050 ), eowd
Options :

}ul = }'\.2 i }'u-%
1. %

}\.- -~ }"\.ﬂ. b ;L'u
2 1 2 3



Question Number : 116 Question Id : 5500532676 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The time period of revolution of an electron in an o1bit of principal quantum number

nis T. If the relation between time period and principal quantum number is T = n*,
then x =

QED 5°(ot0 oaf 1l Y w8 éi}geﬁa 00ZDD) WS JUTR BAGD swo T,
58500 0akw HETR S°(0d0 oafw | dowogo T cn” ©aNd X =
Options :

3
1.¢

B | =

Question Number : 117 Question Id : 5500532677 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A radioactive element A with half life 3 hours decays to a stable element B. After a
time ‘t" the ratio of A and B atoms 1s 1;16 then the time ‘t" in hours 1s

A 0 w8 603 &8)8 Surodo SaPET fgd Sorwdo B e Srbod. A
aiog) 8 223500 3 Hoten, Sodsrwo T AT A,B DT 3&3{1}

1:16 2200 t' end dobywes’



Options :

1.% 6

Question Number : 118 Question Id : 5500532678 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If L 1s the inductance and C is the capacitance then the frequency of a transistor
oscillator 1s directly proportional to
w8 ErA\6 Evgod” 080 L b 3adtdy € D adairfodd o

e TR0 BIS 0" ol Gotoid.

Options :



Question Number : 119 Question Id : 5500532679 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

When the voltage applied across a reverse biased p-n junction diode is increased
then. the diffusion current

8406”68 -1l V08 KAIPE % B0HB0ND TG 2ed, Dbt DS

2P

Options :
1mcreases

| x DO

decreases

S
0

first increases and then decreases

g3 eed 8A e e:’arggeﬁ:

remains constant

DG &ocod.
4, % @

Question Number : 120 Question Id : 5500532680 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The attenuation of a signal is compensated by
208 2050 DY) S0 PPBoSEIS EDATHOES

Options :

rectifier

 DEH %), 63

1. %

oscillator
5 % Eerdo

modulator

wmgéﬁmé
3. % t

amplifier
, v D80
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Question Number : 121 Question Id : 5500532681 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If ‘0’ is the principal quantum number, as per quantum mechanical model of aton,
the maximum number of electrons possible in any energy level is limited to

DI VNARVARNANCAL *0305 290N VETLW ?goé.}f» QIr08S AT
95700 ABT $3 Fows Lowodod) Dodhy (8 JuF Row B3 HOVS

&otod

Options :

1 % 20

2,
, % 2DH2

3
02
3. %

2
2n

Question Number : 122 Question Id : 5500532682 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The atomic mass of H and C is 1 v and 12 u respectively. What 1s the ratio of weight

of one atom each of H and C?

H 080dn C o D8drren eroren S 1 1 o8aiw 12 1. H Sdadw C o au%’bé&
DOATEVY) TV :);:D@ Q0eh?

Options :

1.



b

2.\\;?,,1:12
3}31:3
4w 1:6

Question Number : 123 Question Id : 5500532683 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Chemistry of lanthanides (Ln) is dominated by +3 oxidation state. Which of the

following is incorrect?

rogdE (L) Cvg) 63008 TR0 +3 83136 208 eI Hotwod.

308 T8 IO VOGHHA E?

Options:

Ln (IIT) compounds are generally colourless

. o o) 230 PP FPEPEL0T Bora) P

Tonic size of Ln (IIT) decreases with increasing atomic number

Ln (III) e9asrs D820, DO o] HDOAD Sd S0
2. &

Due to large size of Ln (III) ions the bonding in their compounds 1s ionic

L (II) 0csrR © 088 H8ArH0 S0 IO 20 ¥Tr0d” 0TS wodnotned
3. % A



Ln (IIT) hydroxides are basic in character

Ln (IIT) 358 6 @0 26 ¢orL ) $9A eotrow
4, % '

Question Number : 124 Question Id : 5500532684 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The metal and metalloid in 5 period of long form of periodic table are respectively
RTS8 DRSS’ 5 2 HBALE G F'iro LB WY iro L ST
Options :

~ Sb. Sn
’|_ W

5 % Ga. As

3 @ In. Te

4 % Sl Ge

Question Number : 125 Question Id : 5500532685 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following species has unpaired electron?

308 rAVS” B 0O RSLPED JVTD Dod?

Options :

1.



N2

Question Number : 126 Question Id : 5500532686 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following molecules is not linear?
208 et wes DA DO SPE0?

Options:

~ BeCl,
1. %



Question Number : 127 Question Id : 5500532687 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A flask with open mouth containing air was heated from 27 °C to 477 °C. Some air
was expelled. What is the fraction of air expelled out?
(Assume ideal behavior for air)

D $9% 2 B80S (open) dwaaribo do IR, &v 27 °C dvod 477 °C £
Bired. Sod B woiidh 30508, wabird) D90 ™ grtfo Jod?

(med3 0, ﬁswééxo&nocﬁb 29305 {00 )

Options :

| k2

th | —

'J'I|-|:‘-

|

Question Number : 128 Question Id : 5500532688 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



At T (K), a closed vessel containing 2 g of an ideal gas (A) (molar mass = Ma)
exerted a pressure of 1 atm. When 16 g of another ideal gas (B) (molar mass = Mg)
was introduced into this vessel, the pressure increased to 2 atm. What 1s the correct
relationship between My and Mg?

T (K) 96, 28 20708 TG o 2 g 0 8, Tolw (A) (Arerd gyo3 =
My) 4980t océddn 1 atm, & FSS'S 16 g © 98¢ e300, Tk (B)
(Arerd @103 = Mp) D Doddied AW 2 atm £ 6808, My 08050 Mg

© 065 HOED Voworrd) BeYdA 26?

Options :
- 2Ma=Mp
x 4 Ma=Mp
- 8 Ma = Mg
4w Ma = Mg

Question Number : 129 Question Id : 5500532689 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
One mole of aqueous S,0;" is completely reacted with 2 moles of Br(I). What is

the oxidation state (s) of S in the product formed?
w$ ArS a0 5,05, 2 ard o Byl) & orém 6] Sodod. JSyAd dafrado

S S Q) e.eégétjea f{g@ (e0) Jod?

Options :



Question Number : 130 Question Id : 5500532690 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the standard enthalpy change and entropy change of a reaction at 298 K are 11.1
kJ mol™ and 42 T K™ mol ™", which one of the following options is correct?

208 K 96 a8 6] e dourdy &rtdy, oS dorcyew Sk 11.1KT mol”,
427K mol™ esoni & 08 VAN NS WIaY,

Options :
AG® =1.416 kJ mol™ | the reaction is spontaneous

AG® =1.416 kJ mol ™, A3 ) S

AG® =1.416 kJ mol™ , the reaction is non-spontaneous

AG” =1.416 kJ mol ™, 0 D0RB)) K& S



AG® =—1.416 kI mol™, the reaction is non-spontaneous

AG® =—1.416 kJ mol™, e.ma‘.ﬁoé;ls&ej <SS

AG® =—1.416 kT mol™, the reaction is spontaneous

AG” =—1.416 kI mol ™, eosasod 3¢9 236
4, &

Question Number : 131 Question Id : 5500532691 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following reactions are endothermic and spontaneous?
@ %Hg (2)+ %C L,(g) > HCl(g)
(i) C(Graphite) +2S(1) > CS,(1)

(i) N,(2)+ Hy () > NE (o
(¥) H,(2)+.0,(2) > H,0()

(¥) 7N,(2)+0,(8) > N0, (@

& 308 O DD eaO) B e Trard ien?

(i) %Hz (:7.7°)+%(712 (o°) > HCl (2°)
(i) C (&) +25(8) > CS,(8)

e

(i) %Ng {:P]+%H2 (o) > NH, ()
(iv) }Ig(av)Jr%OE(m]—)HEO ()

(V) %Nz (a°)+0, (o°) » NO, (=)
Options :

(i1), (v) only
v (i1), (v) Soresa

(1i1). (v) only

(iii). (v) Sedo
2. %



(1). (11) only

(D). (ii) Soresdo
3. ®

(111), (1v) only

(iii). (iv) Hoeeo
4. ®

Question Number : 132 Question Id : 5500532692 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

1L of 0.1M HCl 1s added to 1L of 0.1M HA (weak acid) solution. To this solution,
16g of solid NaOH 1s added. What 1s the pOH value of resultant solution?

(Given molar mass of NaOH is 40gmol™: log 2 ==0.3, log 4= 0.6)

1L 0.IMHC1 3 1L 0.IM HA (0ies essdo0) grooerdd $Daro, & rosemds,

16g© 20% NaOH D 89arth. 6\ grareay) pOH Densh Jod?

(9y%9: NaOH arerd bl 40gmol™; log 2 ==0.3, log 4=0.6)
Options :

e 13



Question Number : 133 Question Id : 5500532693 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

At 298K. K, of Cu(OH), is 22x10™. What is its solubility in 10MCuCl,

solution?

298K ¢, Cu(OH), awgy, K 22x10°. 107 MCuCl, grsmos’ v grrhosos

Dod?

Options :

7.4x107Y
1.9

5.5x107"®

1.1x107°

- 7.4x107°
4. %

Question Number : 134 Question Id : 5500532694 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Among the following, the method used for removal of temporary hardness of water

18
308 F&S B o) D8 To3 Sohosid eHarhod DS

Options :



Permutit process

D) 5 IS

Synthetic resin method

2030 B2d GBS

Clark’s method

5°0), DES

Calgon method

ST 2O
- i o
4.

Question Number : 135 Question Id : 5500532695 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

When burnt i air the metal ‘X’ forms only oxide, where as metal “Y" forms oxide
and nitride. X, Y respectively are

mds S0dodd\ X' by &'aro, 95\& & Srdd i)dsda‘;nm&. NI
§iro 83\¢ Ba PBE 0 J6yERV08. X, T en S

Options :

- L1, Na



Na, Mg
5 « Ca. Mg

Li Mg
4, ®

Question Number : 136 Question Id : 5500532696 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Identify correctly matched pairs

L. Boron fibres — bullet proof vest
II.  Metal borides — nuclear industry
III. Borax — flux in soldering

R8T ¢ SaDICD ot SAH doc
I 25 TP B e - oS (o B GE dHrew
I1. &S0 85°8¢h - Aoy Sad DOBLL

ML &5°oe8y — &' Sforn wdsto & Gdsd

The correct answer 1s
DBCLR VAT

Options :

IT. 11T only

IT, IIT c5oee9ads
1. % g



I. IIT only
L. IIT Soegh o

3 ¢ L., T

L. II only
L IT cSoeghedo

4. %

Question Number : 137 Question Id : 5500532697 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which one of the following is not correct regarding diamond?
G008 DB 308 TS D& DBIE T°EL?
Options:

It has a crystalline lattice

25 ‘é:x:]eBSﬂs“d 2rego A 90 cotod

1. %

Non-directional covalent bonds are present throughout the lattice

@&?eﬁés DB £03R) LS00 oo
2. %

C-C bond length is 154 pm

v "
- C-C &08 Qggﬂ 154 pm



It 1s used in the manufacture of tungsten filaments

A 06 DD VAL VAL SOIrE BoftS” EDCITATWD
4. ®

Question Number : 138 Question Id : 5500532698 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The electrophile involved in sulphonation of benzene is
Bod 2\ IND & D JOEPS A&?

Options :

_ SCly
1. %

, SO;

SO»

SCls

Question Number : 139 Question Id : 5500532699 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Number of electrophiles from the following
308 &S’ dOSHS © SLESS

CH,". CO,. NH,. H,0. SO,. H". BF,

Options :



Lok

Question Number : 140 Question Id : 5500532700 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The packing efficiency of BCC unit cell is equal to

BCC aordes 265 5° SO 5"5.‘135@50 BDS HArdo

Options :




Question Number : 141 Question Id : 5500532701 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

0.5g of non-volatile solute is added to the 39g of Benzene. Then vapour pressure of
solution is (vapour pressure of pure Benzene is 0.850 torr)

0.5z © iy 30 grddo 0 39g © Bodd § VLY A6\ Eridteo a0g)

w%ﬁ:c‘iéo (308 Hodd mﬁmm 0.850 torr)

Options :

15 -
1 v 0.845 torr

, % 0.850 torr

3 = 0.860 torr

4 % 0.870 torr

Question Number : 142 Question Id : 5500532702 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



i .""\

(W)
34.2% 5 — | sucrose (C,,H,,0,, ) solution is isotonic with 18%| —

/

solution X. Formula of X 18

of unknown

\ v /

(W o (W) s
34.2% — | WES (C,H,,0,,) mromo, 18%| — | @dand mramo X 8 oJ5’Ds

\V) o V)
Tamore o8, X @E&)Q"Cbé&?’

Options :

. C6HioO4
. CeHiO2
CsH1206

3.¢

» CsHOs

Question Number : 143 Question Id : 5500532703 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The rate constants of a first order reaction at 300 K 1s ki and 400 K 1s ko, What 1s

k,
the value of In k_ if activation energy of reaction is 41.5 kTmol™?
1

(R=83JK " mol™)
28 DA Zaaroed ::55553 gew 3@30‘}05“?.13 o 300K bg ki, 400K s.‘nﬂg ky. &

B[ & 95 415K mol ™ eoaid lu% Do (R=83TK mol™)
1

Options :



1.809

v 4.166
2.083

4 % 3.618

Question Number : 144 Question Id : 5500532704 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Consider the disproportionation reaction 2 Cu*™ = Cu** 4+ Cufs)

: A 24 +12 ;.10 ’ ™ T i s

Atequilibrium [Cu*"]/[Cu™]*is 10% If E .. . =015V, then E _ = (inV)is

308 wioare wo’ 2 Cut = Cu** + Cu()

C 2+
HRTHA 3¢ (o] 10
5 "0 [Cut]?

E o =015V, wansd' E

- dwd (V&)

C

Options :

. —0.386

, ., 0386

L +0.536



Question Number : 145 Question Id : 5500532705 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Match the following

List—1I List-II
(Enzyme reaction) (Enzyme used)
A). Sucrose — glucose + fructose I) Zymase

B). Proteins — peptides IT) Pepsin

C). Starch — Maltose ITI) Invertase
D). Glucose — Ethyl alcohol+ COy IV) Diastase

The correct answer is

08 TrQ) ehDHEXRVAW

o —1 rd)ee-11
(o@D w56 ) (& DoBD)
A). 2088 > dr8E + 054 I) B0

B). I8 - d& ew ) Dyd

C). 6y - mg:es IIT) @R0%
D). r§% - @S esw) e+ CO; IV) doirad

2DBARH DATTEDo

Options :

1 » A-LIL B-II, C-1V, D-1

A-II, B-IIIL. C-1, D-IV
2. %



3 @ A-IV. B-1II. C-1V, D-1

4 % A-LIL B-1V, C-11, D-1

Question Number : 146 Question Id : 5500532706 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
The adsorption of a gas on solid adsorbent follows. Freundlich adsorption isotherm.

X - : ;
The graph drawn between —and p at different temperatures X, Y and Z 1s shown

m

(x=mass of gas adsorbed. m=mass of adsorbent and p = Pressure of gas). The
correct relation between X. Y and Z 1s

20% WBFRI0D ol WEF R0 FodD BB e HATFY SR BRBS.

Z e p & 06k 938 algden X. Y, Z v 36 DS Garioko dod dromdse.
11

X, Y dodaiwZ v 06§ NBAA Vowotio. (X= 985 23690 BB TA% Qbém%‘,

m = 8% 1o B33, P= T 2&&0)

P —

Options :

’|g.-" X:Z—ﬁ--‘?{ :::.Z



Z>Y>X

2. %
sx Y7X=Z
4 % Z e X T TI?

Question Number : 147 Question Id : 5500532707 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following reactions occur during calcination?

306 361" B $:), $680 DI0DES” DT

Options :

CaCO; - Ca0+CO,

Fe,0, +3CO — 2Fe +3CO,
2. %

4FeS, +110, — 2Fe,0, +8S0,
3. % - i )

FeO +510, — FeS10,
4. % )

Question Number : 148 Question Id : 5500532708 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



$0,+H,80,— XY
Y (Hot, Conc)tC - Q+R + Z
Z 1s a neutral oxide. The shapes of molecules of Q and R respectively are

S0, +H,80, — X2,y
Y(s¢,me)+C > Q+R+Z

Z 0938 w8 SR B3\G. Q, R wrwv egdoen St
Options :

Linear. Angular

3DaDH, SedadH
1. %

Angular. Pyramidal
, , Seaab, DEDES

Linear, Pyramidal

- 3D, HEDoEeS

Angular, Tetrahedral
E'e308, Weod), Do
4. %

Question Number : 149 Question Id : 5500532709 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Among Mn, Tc, Re and Bh, which are having (11-1)(13_’115)1 electronic configuration?
Mn, Tc, Re . So8asw Bh o0&, 564 (1-1)d’ns” JUFS JT(R0 &od?

Options :

1. %



Mn, Tc only
Mn. Tc sorgdad

Mn, Re. Bh only

Mn. Re. Bh dradoo
2. ¥ B

Mn, Tc, Re. Bh
3, %

Mn, Re only

M, Re &g
4. %

Question Number : 150 Question Id : 5500532710 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The geometries of mononuclear carbonyl complexes of Cr, Fe, Ni are respectively
C, Fe, Ni & 08 Sogss 57865 do3gre) an{ocioen S

Options:
octahedral. trigonal bipyramidal, square planar

RANDOD, 5 BRFT(E", DS IBER

octahedral. trigonal bipyramidal. tetrahedral

eRdNAD, 3E BLRTER{SS, ) Do
2. ¢



octahedral. octahedral. tetrahedral

292500003, VRBVDOD, B Do

s
octahedral. octahedral. octahedral
292550005, VRBVDOD, 9RBVDAD
4. %

Question Number : 151 Question Id : 5500532711 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following are homopolymers?

408 TS’ A pardaDH FD6 w?
A \LCHz‘ﬁ“_i B: +cuz—cr¢=cH —c;ﬂz.—t:|ﬂ—c|-|z~|71
CeHs CeHs

C: —cuz—tl::cn—crlr}

€ D: Bakelite/B506
a

Options :

 w AHE

, v AC

B.D
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The structure of f-D- galactopyranose is
B-D- rwugggégﬁ QT"), £2:000

Options:

1. %
CH-0OH
H O. OH
OH OH
OH H
5 % H H
3. ®
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Time: 0
The correct statement with respect to D-glucose (x) and D-Fructose (v) is
D-Ar8% (x) 08ai D-p87% (¥) 0% 2020500 23D Db I&?
Options :

Both x and y are dextrorotatory compounds

X s0808 ¥ &0 Gotdh SEEmHdS Do) ¥Ten

Both x and y are laevorotatory compounds

X <0808 ¥ e Goth TParrdEs D) ¥
2. &

x 1s leavorotatory and v is dextrorotatory compound

X P300S B3 Y BEEFIES DAL FR0

X is dextroratory and v is leavorotatory compound

X OEETHGS 0803w Y SrrrHds D0, ¥R
4.
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Identify the correct statement with respect to enzyme competitive (X) and non-
competitive (Y) inhibitors
g 'O Az (X) bty 'O 9 s (Y) 208080c) T

D8 HBocod
Options :
Both X and Y bind to active site

X 508050 Y e Soch 083 FPrd3 woSddupTran

Both X and Y bind to allosteric site

X 208080 Y a0 Gocd '8 Frds wobddn@ron

X binds to active site and Y binds to allosteric site

X doirdo PR3 ot Y ¢85 T3 08SRDTw.

X binds to allosteric site and Y binds to active site

X ¢°085 gwné 28050 Y Soir30 gwaé 20B8BVNT AN
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Observe the two statements

Assertion (A): Benzyl chloride undergoes Sx1 reaction readily while chloro
benzene does not.

Reason (R): C-Cl bond in chlorobenzene has partial double bond due to resonance.

The correct answer is
Gocd T {{r0 262D
3880 (A): BoFS §& Syl 6] weBar Sotadvod 52 §BHeES Sodch.
w60 (R): S0 & G830y S0 C-Cl mododh Srad Brmotio 0.
B WAETEOLW
Options :

Both A and R are correct and R is cotrect explanation of A.

A 00030 R @0 Godlr 280D, 080w R 09008 AD 280 DSdes.
1.9

Both A and R are correct but R is not correct explanation of A.

A Ho8a3n R @0 Godar 2032, 5 R @208 A 28 Jdadde 526,
2. %

A 1s correct but R i1s incorrect.

A %858 52D R 2858 5°¢.
3. %

A 1s incorrect but R 1s correct.

A 2808 T 52 R 2858,
4. %
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Time: 0
DDT is
DDT 938 208
Options :
A chlorinated organic herbicide

28 VoGO EOISE d0g) 0 LoLroes

1. %

A brominated organic rodenticide

w8 DoBoD eI"DEE Jende Dol
2. %

A chlorinated organic insecticide

208 Dofod TERGE S Hos*oed
3. %

A brominated organic avicide

208 DoSOD eI DBE DEOL DoFBeI
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Better results for the preparation of ethers ‘X" and Y can be obtained from reactant

pairs respectively

&6 o0 X 08050 Y 0 Soird Bolow & $08 2 woken SEAT Hod)

09Tl aaraw
O~CH,CH,CH
CH,CH,C(CH,),0CH,CH,CH, @( e
S
(X) (Y)
Options :

Br
| CH;CH,C(CH,),Br + CH,CH,CH,ONa ) | (©/ + CH;CHﬁHgONﬂ)

1. %
/ OH
(CH;C’HZC'(CH:;)EONH + CHSCHQCHQBF); \Q/ + CH3CHQCHQB|>
2. %
Br
((‘H3(?H3(‘((?H3)30Na + CHSCHQCHQBr); ©/ +  CH,CH,CH,0ONa
3.
OH
(CH3CH2C(CH3)2BT + CHqCHQCHQONa) ; @ t CH@CHQCHQBr)
4. %
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Time:0

Two statements are given below

Statement — I ; C — O bond length in methanol is 136 pm and in phenol 142 pm.
Statement — II : The C -O- H bond angle i methanol and phenol 1s almost same
correct answer is

do& Goco T (D0 ROREAD
Ty -1: C- 0 006360 eSS & 136 pm v8oty deees & 142 pm.
@) ~11: C-0- Haot) §t30 B SB0KD DTS S IR VAFHAD

coIrect answer 1s
BN waTa

Options:
Both are correct statements
Gocd SEENOS 20D
1, % =
Both are incorrect statements

Gocd Tran{en VoD S°e)
2. %

Statement — I 1s incorrect but Statement — II 1s correct

() — 1 ARG 570 57 arjay — II DBHE
3.¢

Statement — I 1s correct but Statement— II 1s incorrect

() — [ 200008 570 arjay — 11 2GHE 570
4. %
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An organic compound with molecular formula C4HgO gives an orange-red

precipitate with 2,4-dinitrophenylhydrazine. It gives negative Tollens’ test. The

product of 1t with hydroxylamine i

eS80 C4H50 9 28 S8 ) ¥ 2.4- B RS EAS & bon-

A2 Goth wIEFVY @06, & ) Y0 5Ty 85 AW, TESS

A & T &8\ 0

Options:
CH4CH,

S—NOH

CH;
CH4CH,CH,CH =NOH

CH,CH,

>:r\1r~1|4(:c:zr~1|+2

CH;

CH5CH,CH,CH =NNH,
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Basicity order of the following amines in aqueous medium
i) N-Methylaniline 1i) N. N-Dimethylaniline 1iii) Aniline

20 rde0eS” 306 BHRAD D © TG L0
i) N-2086e5 2995 i) N, N-& 03¢5 DD iii) 299D

Options :

1>11>1il
1>11>11
®
5 x W>1>1

4$ii}i}iii



